SRAT ST

Ball Screw Support Units

&=l FAA | BRROAER(EREREX » MR KIBTRIS S
FRECENA - FERTEIS RIS RIRAR L - O EK4~5

T

O EK6~8
2-X{gt38 L
YRR 2 @ ® M@
e E=EEFER]
@7 |L1 L
o O EK10~20
R 2-X$E@AL M @ ® @ ©
@ ‘/\<>/\ (L2) L3
" \ >
SRV ¥ @an L, LI % U
"I - RN == =1
= pallllic==cql o R
5 ° i 1 e
‘ 'L L L ‘
&= ‘ B

How to order i)

W ERER G @
# ERETE &
5 e = EK - 5 -[]
® BREALE 1 \ \
@ F A s 1#8 TYPE No.
/\\ ® = 1 e e TS
@ ClE] 2 FEPSESL .
® S 2 FBPOES.......
35 ® ] 1 =R FEPSAEL .
D RAALHEMHER 1 _— FIBPSRERL .
FIE | DOOB—EE, BN, S45C p® SEEZZAM........
* EKA~EK8 SRS 1pcs Giidt, EKGRMHE, BEZZEE.......
0 B{I:mm
No d1 L L1 (L2) L3 B H b h B1  H1 P X Y z m Mo OT
' +0.02 $87F
4 4 15 3G 17.5 3 34 19 17 10 18 7 26 A5 M2.6 | M4x0.5 10
5) 5) 16.5 ’ 18.5 35 36 21 18 1 20 8 28 ’ M3 M5x0.5 1
6 6 20 515 22 815 42 25 21 18 18 20 30 515 9.5 11 M3 M6x0.75 12
8 8 23 7 26 4 52 32 26 17 25 26 38 6.6 11 12 M8x1 14
10 10 M10x1| 16
24 29.5 6 70 43 B85 25 36 24 52 9
12 12 6 - M12x1 19
15 15 25 36 5 80 49 40 41 60 M15x1 22
30 25 1
20 20 42 10 50 10 95 58 475 56 75 M20x1 30

HEB R FEFESE2-198

CheNa  @w2zessa177 ‘ info@chena.com.tw ‘ ) Egg;ggggggfﬁ ‘ @) wmEsLwE218



